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ADMINISTRATIVE THEORY

Semester–I

Time Allowed : 3 Hours] [Maximum Marks : 75

Note : The candidates are required to attempt two

questions each from Sections A and B

carrying 12 marks each and the entire

Section C consisting of 9 short answer type

questions carrying 3 marks each.

SECTION—A

1. Define the meaning, nature, scope and significance

of Public Administration. 12

TCS

2. Discuss the similarities and the differences

between Public Administration and Private

Administration. 12

3. Discuss in detail the concept and importance of

New Public Management. 12

4. Write a detailed note on the meaning, bases and

types of the Organization. 12

SECTION—B

5. Discuss the meaning, types and functions of Chief

Executive. 12

6. Define Centralization. Discuss its merits and

demerits. 12
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7. How does Parliament and Judiciary exercise its

control over Administration ? Explain. 12

8. Define Delegated Legislation. Discuss its merits,

demerits and safeguards. 12

SECTION—C

9. Write short notes on the following : 9×3=27

(i) Is Public Administration a Science or an

Art ?

(ii) What do you know about Ist Minnowbrook

Conference ?

(iii) Discuss the relationship between Public

Administration and Economics.

(iv) Define Line and Staff Agencies.

(v) Write any two definitions of Hierarchy.

(vi) Write the kinds of Communication.

(vii) What do you mean by Judicial Review ?

(viii) What is meant by Constitutional Remedies ?

(ix) What is meant by the Vote of

No-confidence ?
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PUNJABI VERSION

n otn otn otn otn ot ::::: Bwg A Aqy B hryk ivcoN do-dodo-dodo-dodo-dodo-do pRSn kro Aqy

hryk pRSn dy 12 AMk hn[ Bwg C swrw kro[ ies

ivc 9 sMKyp au~qr vwly pRSn lwjmI hn Aqy hryk

pRSn dy 3 AMk hn[

BwgBwgBwgBwgBwg—A

1. Lok pRSwsn dw ArQ, pRikrqI, Kyqr Aqy mh`qqw

dI ivAwiKAw kro[ 12

2. Lok pRSwsn Aqy injI pRSwsn dIAW smwnqwvW Aqy

AsmwnqwvW dI crcw kro[ 12

3. nvIn lok pRbMD dI Dwrnw Aqy mh`qqw bwry ivsQwr

ivc ilKo[ 12

4. sMgTn dy ArQ, ADwr Aqy iksmW 'qy ie`k ivsiqRq

not ilKo[ 12

BwgBwgBwgBwgBwg—B

5. mu`K kwrjkwrI dw ArQ, iksmW Aqy kMmW dw vrxn

kro[ 12

6. kyNdrIkrn dI pRIBwSw idE[ iesdy Pwiedy Aqy

nukswnW dw vrxn kro[ 12

7. sMsd Aqy inAWpwilkw pRSwSn qy ikvyN inXMqrx

rKdIAW hn? ivAwiKAw kro[ 12

8. sONpI kwnUMnswjI dI ivAwiKAw kro[ iesdy Pwiedy,

nukswnW Aqy suriKAWvW dw vI vrxn kro[ 12

BwgBwgBwgBwgBwg—C

9. hyT iliKAW 'qy sMKyp not ilKo : 9×3=27

(i) kI jnqk pRSwSn iek ivigAwn jW klw hY?

(ii) pihlI imnUMbrUk kwnPrMs bwry qusIN kI jwxdy

ho?
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(iii) Lok pRSwSn Aqy ArQ SwSqr dw sMbMD d`so[

(iv) lweIn Aqy stwP eyjMsIAW nUM pRIBwiSq kro[

(v) pd sopwn dIAW do pRIBwSwvW idE[

(vi) sMcwr dIAW iksmW d`so[

(vii) inAwiek punr-inrIKx qoN quhwfw kI Bwv

hY?

(viii) sMivDwink aupcwrW dw kI ArQ hY?

(ix) AivSvwS mqy dw kI ArQ hY?
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